| Efficiency vs Dxy |
0.5
<

5 S
L | s S S
< A T T
o R e
ko) S T I T
e e N ) [ S A
T
T ——
R -
O

effi

e e e o

T 0 e o o
: : : : u : : : :
o+

Rati

=
!

09 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFit_baseline

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__mkFit_BASELINE-2

N 0.2
© : : : : :
JT| SRR S SRS S M
> : : : : :

Q - : : : : :
.é_?'lGZ : : : : :
@) - : : : : :
.14 o I A A
()] L : : : : :

T SRR P R —
P -

OJ“L'O_IIII;IIII;IIII!IIII;IIII;IIII

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


